

INTERNATIONAL STUDENTS' FEES -- 2022

Title and Code	CRICOS	Intakes	Duration (Weeks)	Tuition Fee	Material Fee	Application Fee	Total
Early Childhood Education and Care Courses		March & July					
CHC30113 - Certificate III in Early Childhood Education and Care	093188B		50	\$ 12,000.00	\$ 300.00	\$ 200.00	\$ 12,500.00
CHC50113 - Diploma of Early Childhood Education and Care	093189A		50	\$ 13,700.00	\$ 300.00	\$ 200.00	\$ 14,200.00
Business and Management Courses		March & July					
BSB50215 - Diploma of Business	087208J		50	\$ 8,000.00	\$ 300.00	\$ 200.00	\$ 8,500.00
BSB61015 - Advanced Diploma of Leadership and Management	091279D		79	\$ 15,000.00	\$ 300.00	\$ 200.00	\$ 15,500.00
Healthcare Courses		March & July					
CHC43015 - Certificate IV in Ageing Support	091343A		32	\$ 9,500.00	\$ 300.00	\$ 200.00	\$ 10,000.00
CHC43415 - Certificate IV in Leisure & Health	091343A		32	\$ 9,500.00	\$ 300.00	\$ 200.00	\$ 10,000.00
CHC53415 - Diploma of Leisure & Health	091344M		50	\$ 11,700.00	\$ 300.00	\$ 200.00	\$ 12,200.00
Dental Courses		July					
HLT55118 - Diploma of Dental Technology	098479F		92	\$ 30,000.00	\$ 2,000.00	\$ 200.00	\$ 32,200.00
					,		



DOMESTIC STUDENTS - FEE FOR SERVICE -- 2022

Title and Code	Intakes	Duration (Weeks)	Tuition Fee		Material Fee		Application Fee		Tota	1
CHC30113 - Certificate III in Early Childhood Education and Care	March, July	50	\$	2,850.00	\$	300.00	\$	200.00	\$	3,350.00
CHC50113 - Diploma of Early Childhood Education and Care	March, July	50	\$	3,100.00	\$	300.00	\$	200.00	\$	3,600.00
BSB50215 - Diploma of Business	March, July	50	\$	2,850.00	\$	300.00	\$	200.00	\$	3,350.00
BSB61015 - Advanced Diploma of Leadership and Management	March, July	79	\$	3,500.00	\$	300.00	\$	200.00	\$	4,000.00
CHC43015 - Certificate IV in Ageing Support	March, July	32	\$	2,500.00	\$	300.00	\$	200.00	\$	3,000.00
CHC43415 - Certificate IV in Leisure & Health	March, July	32	\$	2,500.00	\$	300.00	\$	200.00	\$	3,000.00
CHC53415 - Diploma of Leisure & Health	March, July	50	\$	3,300.00	\$	300.00	\$	200.00	\$	3,800.00
CHC43115 - Certificate IV in Disability	March, July	32		TBA*		TBA*		TBA*		TBA*
HLT43015 - Certificate IV in Allied Health	March, July	32		TBA*		TBA*		TBA*		TBA*
CHC43315 - Certificate IV in Mental Health	March, July	50		TBA*		TBA*		TBA*		TBA*
CHC52015 - Diploma of Community Services	March, July	54		TBA*		TBA*		TBA*		TBA*
BSB42015 - Certificate IV in Leadership and Management	This course	is being delivered as _l	part o	of the Profess	siona	l Year Progra	m w	ith Engineers A	ustra	lia.
CHC33015 - Certificate III in Individual Support	Yorke will not be recruiting students for this course									

TBA* - To be advised. Currently Yorke is not enrolling for this course. Please contact Yorke for more information. Domestic students fee for service applies to candidates who are not eligible for funding.



DOMESTIC STUDENTS' FUNDED FEES 2022

Statement of Fees 2022

Yorke Institute (TOID 22040)

As per the Skills First Program, an eligible individual can undertake a maximum of two Government subsidised (funded) courses at any given time in a calendar year. Additional eligibility criteria must be met to access the funding. To check on eligibility, contact Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Indicative Fees and Charges for 2022 :

- Yorke Institute's price list is valid until 31/12/2022.
- Student tuition fees as published are subject to change given individual circumstances at enrolment.
- Administration and material fees are none refundable and must be paid in advance
- A pre-training review is conducted for every learner upon enrolment, where they will be required to undergo a Language, Literacy and Numeracy (LL&N) test, to help determine the appropriate level of entry to their chosen program. Learners may be recommended to enrol in an entry level foundation course to help prepare and progress through the higher level of study.
- Contact 03-9042 0231 to enquire about payment terms, eligibility to access Government funding and other available options.

Should a refund be required, further details on our refunds policy can be obtained by contacting Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Additional Fees or Charges :

<u>Item Fees / Charges</u>	
Tuition Contribution	\$0.00
Administration Fee	\$0.00
Re-issue Qualification Certificate / Copy	\$50.00
Learning Material Replacement	\$50.00 - \$100.00 depending on unit of competency
RPL Fees	\$100.00 per unit



	Indicative Fees and Charges 2022								Eligible Government Subsidised Rates					
National Course Code	Course Name	Estimated Duration	Mode of Delivery	Work Placement requriements	Location for Practical Tasks	Location for Practical Tasks for Traineeship	Indicative Tuition Fee per Nominal Hour	Indicative Maximum Course Tuition Fee	Concessional Indicative Tuition Fee per Nominal	Concessional Indicative Maximum Course Tuition	Government contribution			
CHC30113	Certificate III in Early Childhood Education and Care	50 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,438.00 (888 Hours x \$7.2			
CHC50113	Diploma of Early Childhood Education and Care	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$12,487.50 (1,998 Hours x \$6.2			
CHC43015	Certificate IV in Ageing Support	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$10,937.50 (1,250 Hours x \$8.7			
CHC53415	Diploma of Leisure and Health	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$9,812.50 (1,570 Hours x \$6.2			
CHC43115	Certificate IV in Disability	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,742.50 (930 Hours x \$7.25			
CHC43415	Certificate IV in Leisure and Health	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$7,648.75 (1,055 Hours x \$7.2			
CHC52015	Diploma of Community Services	54 Weeks	Blended Delivery	100 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$8,750.00 (1,400 Hours x \$6.2			
HLT43015	Certificate IV in Allied Health Assistance	32 Weeks	Blended Delivery	120 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$12,862.50 (1,050 Hours x \$12.25)			
CHC43315	Certificate IV in Mental Health	50 Weeks	Blended Delivery	80 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$7,918.75 (905 Hours x \$8.75			
BSB50120	Diploma of Business	50 Weeks	Online	0 Hours	Online	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25			
BSB40520	Certificate IV In Leadership And Management	32 Weeks	Online	0 Hours	Online	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25			
BSB60420	Advanced Diploma of Leadership and Management	33 Weeks	Online	0 Hours	Online	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$2,592.50 (610 Hours x \$4.23			



DOMESTIC STUDENTS' FUNDED FEES 2021 (SUPERSEEDED)

Statement of Fees 2021 (Superseeded)

Yorke Institute (TOID 22040)

As per the Skills First Program, an eligible individual can undertake a maximum of two Government subsidised (funded) courses at any given time in a calendar year. Additional eligibility criteria must be met to access the funding. To check on eligibility, contact Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Indicative Fees and Charges for 2021 :

- Yorke Institute's price list is valid until 31/12/2021.
- Student tuition fees as published are subject to change given individual circumstances at enrolment.
- Administration and material fees are none refundable and must be paid in advance
- A pre-training review is conducted for every learner upon enrolment, where they will be required to undergo a Language, Literacy and Numeracy (LL&N) test, to help determine the appropriate level of entry to their chosen program. Learners may be recommended to enrol in an entry level foundation course to help prepare and progress through the higher level of study.
- Contact 03-9042 0231 to enquire about payment terms, eligibility to access Government funding and other available options.

Should a refund be required, further details on our refunds policy can be obtained by contacting Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Additional Fees or Charges :

<u>Item Fees / Charges</u>	
Tuition Contribution	\$0.00
Administration Fee	\$0.00
Re-issue Qualification Certificate / Copy	\$50.00
Learning Material Replacement	\$50.00 - \$100.00 depending on unit of competency
RPL Fees	\$100.00 per unit



	Indicative Fees	and Charge	s 2021 <mark>(Supers</mark> e	eeded)				Eligible G	overnment Sub	sidised Rates					
National Course Code	Course Name	Estimated Duration	Mode of Delivery	Work Placement requriements	for Practical Tasks	Location for Practical Tasks for Traineeship	Indicative Tuition Fee per Nominal Hour	Indicative Maximum Course Tuition Fee	Concessional Indicative Tuition Fee per Nominal	Concessional Indicative Maximum Course Tuition	Government contribution				
CHC30113	Certificate III in Early Childhood Education and Care	50 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,438.00 (888 Hours x \$7.25)				
CHC50113	Diploma of Early Childhood Education and Care	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$12,487.50 (1,998 Hours x \$6.25)				
CHC43015	Certificate IV in Ageing Support	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$10,937.50 (1,250 Hours x \$8.75)				
CHC53415	Diploma of Leisure and Health	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$9,812.50 (1,570 Hours x \$6.25)				
CHC43115	Certificate IV in Disability	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,742.50 (930 Hours x \$7.25)				
CHC43415	Certificate IV in Leisure and Health	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$7,648.75 (1,055 Hours x \$7.25)				
CHC52015	Diploma of Community Services	54 Weeks	Blended Delivery	100 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$8,750.00 (1,400 Hours x \$6.25)				
BSB50120	Diploma of Business	50 Weeks	Online	0 Hours	Online	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25)				
BSB40520	Certificate IV In Leadership And Management	32 Weeks	Online	0 Hours	Online	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25)				
BSB60420	Advanced Diploma of Leadership and Management	33 Weeks	Online	0 Hours	Online	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$2,592.50 (610 Hours x \$4.25)				
Note: The student	0	subject to chan	ge given individual c	Management ote: The student tuition fees as published are subject to change given individual circumstances at enrolment.											